Kédainiy tauré - 2016
2016-10-01
1 turas (round)

Al. G. Mosiaschwili, ,,Pat a Mat“, 2000; 1.2d5 [5];

B1. M. Marandiuk, ,Mat*, 1973, 2 Pr; 1.¥nh8! 2.%ag8 [1]; 1. Bd8 2.%d2 [2] 1... Ee8
2.8c2[2];

C1. M. Marandiuk, J. Gordian & 1. Jarmonov; L. Loschinskij & E Umnov MK; 2012 2 Pr. 1.f7!
2.8d7+ Rd3 3.Qb4+ KRc3 4.Qa2+[1]; 2. Vf5 3.Qd4+ Rg5 4. Bg6+[1]; l.. 2
2.Qel+ DVxe3 3.213+ Rf4 4.Bf6+[1]; 1. Rf5 2.@d4+ Rg5 3.@xf3+ KRh5 4.&g6+[1];
l... d4 2.Qb4+ d3 3.@xd3+ Rf5 4. QAf4+[1];

D1. V. Kalaschnikov, ,Die Schwalbe®, 1995/6 2 C.; 1.Bg7+ Rc82.B g8+ Rd73.B g7+ RKeb6
4.Bg6+[1] Re5 5. Bh6 h1¥ 6. B xhl[2] @xhl 7.b6 Rd6 8.Ra6 [3]Ra3 9.b7 Rc7 10.Ra7 b5+
11.Ra8 £Lxf3— =[4]; 8. ... £xf39.b7 KRc7 10.KRa7 Lxb7—=[5].

E2. Z. Janewski, V. Kirilov—65 JT, 2016 2 Pr.; 1.2d7 @xc6 2.8xc6 Lb7#;1.Lxed Ld3+
2.Re3 Qc4#t; 1.He6 Bb6 2.Bxe5 Af6#; 1.Bd6 Bxc5 2.8xc5 Bb5#. [1-2,5-3,5-5]

F2. G. Koziura, ,Elinek—50“ 2003 1 Pr.; 1.Bhl! [1] 1... b6 2.@cl+ [xd2 3. ®el+ Hxel
4. 804+ Rd1 5. Bf1 Bxfl#; [1,5] 1...ba 2.2xf4 a5 3.g3 a4 4.Bcl+ [Rxd2 5. %12 Bxf2#; [1,5]
2. ab 3.8xf5b4 4.¥f3+ Be3 5.04 Bxf3#[1]

2 turas (round)
A2 Ch. Poisson, ,,diagrammes®, 1987; 1.¥%d8 [5]
B2. M. Marandiuk, ,,Sachmatnaja kompozicija“, 2006, 3 pr.; 1.@c7! 2.Bf4+ [1]; 1. B3a4
2.7 [11; 1...ef 2.¥c6+[1]; 1...g52. Bxe3+[1]; 1... gh 2. ¥ d6[1].
C2. M. Marandiuk, V. Rudenko, Moskowskij k. 1999, 2 pr.; l.A@c4! 2.Bh3+ §g4 3.Bh2[1,5];
1...f4 2. Qe5+ Red4 3Hd4+[1,5]; 1... g4 2. B2+ Red 3.Bf44[1,5]; 2... Rg33.2d2[0,5].
D2. G. Rinder, ,Die Schwalbe® 1997/8 2 Pr.; 1.Eb8 Ec8 2. Bxc8[1] b6 3.h5[2] gh 4.g5 h4
5.26[3] fg 6. B e8[4] Rxc7 7.2xg6[5] .
E2. M. Rimkus, “Sachmatija® 2016; 1.Rel £xb6 2.8d4 Hc3 3.Qe2 £La5 4.8 Hcl#
1.2c3 Bd3 2.2f3 fe5 3.Qed d2+ 4.Re3 &f4#; 1.h5 Bed+ 2.9f2 Exe5+ 3.%xg3 Held+
4.8xh4 &fo#; 1.2g6 £Le3 2.Rd3 Lg5+3.Red Bed+4.Rf5 ga#. [1,25x4]
F2. Z. Janewski, ,Orbit“, 2012, 1 HM ; 1.&g3! 2 Bb2+ Rd4 3. Bbd+ @xbd#;[1] 1... Af4
2.Qa3+ Rd4 3. ¥xg7+ Af6#[2] 1... Bxad 2.Bbd+ Lxbd 3. %18+ QeT#.[2]



Problems Difficulty (13 Solvers)

ID| Tag [Average|S(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)(- (No Solution)
41| = 0.23 0 2 8 3
10| + 0.23 0 3 5 5
11|h#n4] 0.58 0 4 2 7
6 |s#t5 ] 0.77 2 0 2 9
9| #4 1.04 2 1 2 8
8| #3 1.31 2 2 8 1
3| #5 1.46 0 6 0 7
12| s#3 | 1.77 4 1 4 4
21 #3 3.15 8 1 1 3
5|h#2 | 3.38 4 8 0 1
1| #2 4.23 11 0 2 0
71 #2 4.62 12 0 1 0




